





A LEHER

=

HizE
LaFh

77318 (B) =T ot =
OOSHIE AEERKA :

(@M :
(@=4&Mmis JEIRST
D@RAXKEFE

O@RMOKME AzpizsER

CI4FBIDER 0985 ~ 13650 485R]

OB ODEP 1305~ 178 D4R FRIOEN. FEROLERIR
FRIDFEDABFEIDSSE KEFMEFET

¥ _EEEFDEH 100 %E 2EIEME (40F5R] x 2[5/ 18FHE = 518[E)
S0 B DBIA B (X B H

BEZHMEL, BBUEIDOHETRIC [IE] OFTEEE

AEE, SHH1029REIZE2EIEZEFTHEOK (EhiE =)

Ik

CJ4FAT09~13

O44&13~17

71 (N
10cmd& D
BESH(T/IhE

71 ()
10~12cm

71 (X)
12cmd& D
BASHCKRELN

T OAth

53

PN
=)

ZOMMTATNZZ &





